/

|

| FED. ROAD FISCAL | SHEET | ToTAL
STATE PROJ. NO.

:| DIST. NO. YEAR NO. | SHEETS

HAWAII | HAW. | HWY-0-02-11R | 2014 |C.0. 31| 43

Begin Project
B Sta. 34+00

End Project
B Sta. 36+00

e o e e — e — e — - — - — e — e —

. Resfore Asphalt Concrefe Surface,
2 s e Matfching Exist. thickness

[ N F_ T i
-\ _ _ ., - — - I
+
Baseline of Construction £
I = | N -
0+50  0+40  0+30 [0+20 /0+/0 0000 00U : ST SO0
/ '[ ! === — — — "% sl IR %
Q
36" Traffic Match Exist. 50.9+ 8 < To Kailua
Rated Manhole T "
KANEOHRE (SBTQTE) DRIVE \ / / ~50.73 (Pavement Elev.) y li‘ii
. " . .
0 Match Exist. 5.03% Match Exiet. 20697 (Ve - M

— )
<22 50.58 (Pavemeént E76$ Z= e SEQUENCE OF CONSTRUCT ION:
=T - I

/ |
————————— — + :‘: \# /:‘:’ - ‘i —— — GV :I;_-><——— —_:I: / / .
i Ai 4 /ﬂf/\ /\?& T P — ,QQ@Q (Pa vem%;% Llev: P PR R A R AR R — . Excavate and remove existing structure as necessary to install
e a A -5 TON N | the BMP structure (Storm Water Treatment Device).
- _ ] " 417 r‘\?ﬁ’\._;:r 'y f
A ; ‘ ~—y- Y > e o 3

—— Existing drainage system must remain functional at all fimes.
; Install bypass as required.

exist. curb and guiter

_____ X e e o e - F xS GHardr a#———?(—/——/{——— : L / - TC 5105t
A R T . Excavated material shall not be stockpiled on-site but shall be taken
, Elev. 51.05 off-site fo a location with an approved Erosion and Sediment
Exist. TC 51.07+ Control Flan.
Pavment
i e N\ . 1o the maximum extent possible the BMF Installation site shall be
TR N T T T backfilled and stabilized at the end of each day. If same day

exist. storm drain
inlet structure ke

stabilization [s not possible, the confractor shall protfect

Bioclean NSBB-Water
Polisher up flow Media

be removed e unstabilized soil surfaces with impermeable sheeting secured with
(FSZ/fGrDO; ,.é/\pproved Equal. y o sand bags.
ee LDeralls on A
Shts. C-20 and C-21) 4. A portable sediment tank shall be used as necessary fo dewater
N 2 excavations and fo remove sediment laden wafer.
‘ ‘ ‘ ‘ ‘ (1) Sta. 33t85.74, o/s 23.0+Rt. 5. Affer all areas have been stabilized and with approval from the
Mafch Exist. Guardrail. A compliance inspector, remove erosion and sediment control
..... Wy . . . devices, restore, and stabilize any areas disturbed by the installation
s @ Sta. 34+05.69, o/s 22.5+' Rt, End Guardrail. eXIST o ( srorm d.f§/n outtall of the BMP.
5 Install ET2000. | v=as.31 (10 remain
8| (3) Sta. 34+0648, o/s 26391 Rt, Begin Guardrail | BASELINE CONTROL COORDINATES 8/18/15 |/ Guardrail Revised
: 5 fhoral Type G Flare and founded £nd STATION | EASTING | NORTHING Pt D Pt A PROPOSED BMP STRUCTURE malld ASEEICL
a % ° LOCAT.[ON DATA STATE OF HAWAII
g b B ; B 5 0+00 7935.68 ~2317.06 O i DEPARTMENT OF TRANSPORTATION
aii1|8| (9) Sfa 3443139 o/s 2266 R, 0+10 1936.64 ~2321.04 POINT LOCATION FIGHWAYS DIVISION
E E 3 % 5 é § 0+20 793740 '5337.0/ ENGINEER KANEOHE BAY DRIVE
REERBE|S / 0+30 7938.16 -5346.98 ——————— A Sta. 0+22.89, 25.78" Rf. No. 10377-C BUD DT DALCTT DI AN
BRI (5) Sta 344565 ofs 215 i 0+40 793892 | -5356.95 i . B | Sta. 0+22.89, 3509 At. ; BMP RETROFIT PLAN
s || @ st s#858s o5 2132 Rt £nd Guararai 0+50 793968 | -5366.92 C | Sta. 003822 3509 A e ye | ULSCELANEQUS PLRMANENT BEST
Z d';’ o o . . A , , . OR UNDER MY SUPERVISION.
§ Martch Existing Guardrail. PROPOSED BMP STRUCTURE e PROJECT NO. HWY-0-02-11R
g [nser TENEE | Scale: 110" Date: April, 2014

SHEET No. C-]19 OF 23 SHEETS
| |

C.0. 31




/

FED. ROAD STATE PROJ. NO. FISCAL SHEET TOTAL
1/ 10 1/ ! | Iy ) DIST. NO. YEAR NO. SHEETS
e 4o /5 i § HAWAII | HAW. | HWY-0-02-11R | 2014 |C0. 31| 43
e T B o GENERAL NOTES
l ! i NS T 1. All hardware, posts and fasteners shall be hot-dip zinc
s — e i A 14" coated galvanized after fabrication. No punching, drilling or
§7Qf ! :EF—— 6" Hole : < . cutting will be permitted after galvanizing.
. \----i '-i-/ I B e St BT SN r L~ 34 hole 2. Where conditions require, special post lengths in increments
i\"’ NS :E: ! | 7 of 6 inches may be specified.
~ R Iji < i ¢ 3. All fasteners, posts, and rail elements (i.e. FBBO3, PWED],
1 ™~ ! ﬁ RWMOZ2b, efc.) shall conform to the latest edifion and
Qﬁ :E: | amendments of “A Guide fo Standardized Highway Barrier
= i i 77" Rail Hardware”, a report prepared and approved by the
17" i 13 ¥ : y AASHT O-AGC-ART BA Joint Cooperative Committee, Subcommittee
/8 i /8 | On New Highway Marterials, Task Force 13 Report. Dimensions
7 Vo 2l6" | 26" NV of fastners, posts and rail elements have been converted from
3 / 2 o= e == / 4 . . . .
R (typ.) 9 \64‘%6” metric units info their present form.
_ 578" 77" All exterior corners 6" 4. The Recycled Plastic Block or Offset Block shall be approved
< =~ " radius by the State.
TOP 5. All new guardrail systems (system consists of fotal length of
— 21DE RECYCLED POLYETHYLENE guardrail including both end treatments) shall include the
RECYCLED PLASTIC BLOCKOUT (TYPE I) OF FSET BLOCK (TYPE ID) Adaliional aved Area.
6. Affer the guardrail posts are installed in the paved area,
the Contractor shall fill/seal around each guardrail post
Offset Block or Blockout 4 Offset Block or Blockout and all cracks in the paved area caused during the guardrail
Cuardraj— post installation. IT required by the inspector/engineer, the
Guardrail Post Confractor shall tamper the paved area around the guardrail
\ - A O post prior to filling/sealing. All costs associated with this
Strong Post B 5 f=z=z=3p work shall not be paid for separafely, but shall be considered
(PWED!) Pt m incidental fo the various guardrail items.
(PWED2) | FBB03 guardrail bolf x © Fill/seal around post 7. When standards for the fill slope area cannot be met, a site
=i with recessed nut ~ (See Nofe No. 6) specific, engineer approved design may be used.
8] O\ / TR AN 8. New AC. pavement at guardrails shall extend & feet longi-
A — tudinally beyond terminal ends.
G- Additional 9. Reflector Markers (RM-5) mounted on guardrails shall be
—Paved Shoulder_|_ Paved Area* _ spaced every 25 feet. RM-5's shall not be installed on
o Terminal Sections. Furnishing and installing of each RM-5
< A N YA shall be considered incidental fo the adjacent guardrail system.
E xploded View
(Rail and washer nof shown) |
: 20" Min GUARDRAIL TYPE S
STEEL POST AND BLOCK DETAIL == y e [ Grade # Compat Sirong Post W-Beam 9% 6
| | (See Note No. 7) Strong Post Rubrail (W-Beam) 2-0" | 1-6"
J ‘ ‘ ‘ ‘ Iype LI or IV Refrorefiective | Guardrail — Modified or Strong Post Thrie Beam | 2-0" | 2-0"
S Ref/faofor Mar.ker (RM-5) - Reflector | Sheeting (High Intensity); Post "
..... S Facing Traffic (Mounfed on Guardrail Bolf) Color of Retroreflective | /__°/. /;er
2 Sheeting shall conform to Slope ) Break Point
3 the color of the adjacent | Vo Con't, | L0 /
S edge line. 4 S 47
: i | T Fill Slope
; ; Pav't. j T Lt uin, S~ 2:1 Max.p
Ex TR Design L___L: AC rFavt, FParabolic \\\\ DEPARTM:I:I/?I'TEOOFF :;X:I“SPORTATION
g:::EE 3 Mix No. IV F\’OUHd/'ng £yl 7‘-'\ “~. HIGHWAYS DIVISION
HHTIE Xisting
525%%% £ X 2" Prior to installing AC. Mix. No. 1V, Ground GUARDRAIL DETAILS ¢ NOTES
N g level .&5 remove vegefafl’on and compact
EE a § Calvanized Stes! existing ground to 95% compaction. WISCELLANEOUS PERMANENT BEST
518 £]3 1/ yy; : ELEVATION MANAGEMENT PRACTICES ON _QAHU
S (18" Min. Thickness)
= PROJECT NO. HWY-0-02-lIR
S REFLECTOR MARKER (RM-5) DETAIL AND TYPICAL INSTALLAT ION [YPICAL GUARDRAIL INSTALLATION Scale: Dare: April, 2014

SHEET No. C-19A OF SHEETS

C.0. 315-1




FED. ROAD FISCAL | SHEET TOTAL

V Orrset Block or Blockour NOT E: 1 HAWAIT | HAW. | HWY-0-02-TIR | 2014 [CO.3152| 43
Guardrail All Holes are WEx8.5 ——
5 PWEDT %" Dia. Structural ||
: _ Shape 5"
| AE=z=z== ~ ke 16 ~
[gx : w\ 57 ) 3/ ‘-‘9 e%zll %ll
t i 7 7 o 8 2 8” 3/ u — va
A N il € CEY) % e x o'
e u LAY T Mod. Heavy Recess both
, 1 — —loHol- S Hex Nut sides
o[ L %" N\ A
PLAN : B Y
~— PWEO! o E DE 5/_{ g/EVSITOR 7 3; _ i -
RWMOZa — Offset Block or Blockout : e . > -
H o FBBO2 " 1
¢ FBBOI o i J FBBO3 10"
Spolice Bolts | R 0
: R P = N
Y :_:_:_:_:_:_:_j& © ! GUARDRAIL BOLTS AND RECESSED NUT
FBBO3 ; Ground —— £ Ground
N ' Line i Line
§ . — A R y—W‘ﬁ"mWé
U ) - 11
~ PWEO! —— 5 /N ot
I 4 / N / ::/’
Ground & 1
Line~ | ii
v /
SIDE FRONT
W-BEAM STRONG POST (PWEO])
ELEVATION 6-3" ;
i
STRONG POST W-BEAM GUARDRAIL NS ® : ®
N ;
(SGR04a) o .
2>yl Gs' R (typ) | | f4 @ 0 ©®
R 2 2 | Sy |
B N NN |
- g ¢ Y x 2" = i ,
- , - , ~ Post Bolt Slot e ® | ® 77 RS, ®
€ Rail bolt hole ¢ Rail bolt hole N D A T | :
8-F BBO! FBBO3 %R~ f
— Splice Bolts 1 /—F\’WMOZG ) \\\ ! O : © ©
O T T ! /" 174 !
>J ‘ ‘ ‘ ‘ S R L o L \Te" =€ By x 1) 21 44" | 4
..... S % 7 i N To. 5 Slot (typ.) | | |
S e - o N+ ! , -
S <N Lap in d./’recﬁon—/ 0, : 8/ : 361
% =~ y—Ground Line of fraffic DESIGNATOR Bfé\/_i/_/:(':KAjvi_ggL - - 2
1 07 12 Gauge 7/31/15 | /\ Added Sheet
: : S PWED a N Date Revision
gx W ? SPACE W-BEAM GUARDRAIL (RWMOZ2a) SePARTME T O ON
SHIHE ELEVATION e O TN
E?MZE: g STRONG POST W-BEAM GUARDRAIL
L § STRONG POST W-BEAM GUARDRAIL WITH
55 . § RECYCLED OFFSET BLOCK OR PLASTIC BLOCKOUT MISCELLANEQUS PERMANENT BEST
LA MANAGEMENT PRACTICES ON OAHU
R PROJECT NO. HWY-0-02-1IR
g Scale: Date: April, 2014
c\;: SHEET No.C-19B oF 23  SHEETS

C.0. 315-2




DRAWN BY
TRACED BY
DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL SURVEY PLOTTED BY

PLAN

NOTE BOOK

(standard plan TE-51 r09/01/87)

tdl.ruby/guardrail /te5irev.dgn

ré6/21/01

3%

29 2// X 2]5%6//
Splice Bolt Slot (fyp.)

3/4// % Zyzl/

Post Bolf S/of—\

<— Lap in direction of fraffic

/*— 2-25)5° Bend

(optional)

1" & Holes

(1yp.)

)

he cross-sectional
dimensions for this
part are fo fit over
part RWMOZ2a on the
approach end and

under part RWMQOZa
on the trailing end.

1 T T T T
371414 41" 816" 1 471 4

BASE METAL
DESIGNATOR | TH10KNESS
RWEO2b 10 Gauge

W-BEAM TERMINAL CONNECTOR (RWEQZD)

2/_3y2//

-

121"

%]

Lap >‘
)

>|

S

S~

291 x 14" Splice \
Bolt Slot (typ.)

3/4// X 2y2//
Post Bolf S/of—\

<—Lap in direction
of traffic

)

®
®

®
®

®

S ]2%’” =

®

I ®
®

T'he cross-sectional
dimensions for this
part are fo fit over
part RWMQOZ2a on the
approach end and

under part RWMOZa
on the trailing end.

2//

9

W-BEAM END SECTION (FLARED RWEOia)

| | |
i4y4lli4%lli
<

—

DESIGNATOR

BASE METAL
THICKNESS

RWEOIa

12 Gauge

I
30° ® °o
'\q\:
Contour fto fit <
over rail element - N
30" ® Q™ ! 30° ®
Lap in direction oY w41 Lap in direction 20 x 1l
<— : b x 15 <— ' 2. o K49
| of traffic Splice Bolt Slot (yp.) | of traffic Splice Bolt Slof
Shape fo fit Shape fo fit
rarl e/emenf7\ T rairl e/emenf—[\ T
A ® @ A ® @
tv S N S
N © N o
V @ @& ! V @ ®
. ! ! . y
The cross-sectional . . | The cross-sectional | | |
" 1/ n [ 1 | "o "
dimensions for this %_; 8/ >5<7/2 — dimensions for this 2l _:< 8lp" | T _
part are fo fit over part are to fit over Varies'
part RWMO2a BASE METAL part RWMOZ2a
DESIGNATOR BASE METAL
THICKNESS DESIGNATOR THICKNESS
RWEO6a 12 Gauge RWED3a 12 Gauge

W-BEAM END SECTION (BUFFER RWEO6a)

6%1”/5\’
_ ]/‘6V4”i
30° I S
2%// _ 8y2//><77 ”i'>
: ]
| =
: >
-
=% i <
! N
j =
| v
Slotted Holes
29, n 1/
X1 BASE METAL
% 6 DESIGNATOR | 1 10kNESS
RTEO2b 10 Gauge
THRIE-BEAM SECTION (ROUNDED)
(RTEOZD)
I
Ao ¢ A
| | Q.
S
Contour to fit ol 5|
over RTMO2b o S
0o
SIES
Y,
30°N b b !
2| | oy 7l
_ 2/‘6”1' _
]
| P P 7
3
< O
o S
o <
S
[N
V x
v
Sloted Holes S ETETAL
26" x 15" DESIGNATOR | 7 1 1eKNESS
e | oo
[ HRIE-BEAM

W-BEAM END SECTION (ROUNDED RWEO3a)

END SECTION (BUFFER RTEO3D

or RIEO4D)

TOTAL
SHEETS

FED. ROAD
DIST. NO.

FISCAL
YEAR

SHEET

STATE
NO.

PROJ. NO.

HAWART HAW:- | HWY-0-02-11R | 2014 |CO. 3IS-3] 43
3//I
L —
li\ _@F_ |_@F_ 1\33/8//
2/_6//
/,,g 3/4// X Zyzll
Holes Post Bolt o
S (fyp,)7 Slot— "l
N
(| == =% N A
. ‘{qg =I=\; =|= “’\i
R -
™ —e!a< =|= Rl % S
I L4 BR
T _6? i 3
™ _g|9< =|= =| M\L'E
\ = e ©o y
_ 2-6" _ Slots
DESIGNATOR BTA/_i% K%’?;g
RTEQOIb 10 Gauge
[HRIE-BEAM
[ERMINAL CONNECTOR
(RTEQID)

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GUARDRAIL TERMINAL CONNECTORS
AND END SECTIONS

MISCELLANEQUS PERMANENT BEST
MANAGEMENT PRACTICES ON QAHU
PROJECT NO. HWY-0-02-11R
Scale: Date: April, 2014

SHEET No.C-19C orF 23 SHEETS

C.0. 31S-3




DESIGNED BY X
QUANTITIES BY
CHECKED BY

TRACED BY

ORIGINAL | SURVEY PLOTTED BY
DRAWN BY X

PLAN

NOTE BOOK

(standard plan TE-59 r11/03/89)

tdl.ruby/guardrail /te59rev.dgn

r3/13/02

Either full penetfration
weld or bend fo fit

15"x3"x234" Plate
4" Weld all around

Hex. Nuf
for %" Bolt

Metal Guard
Rail Element

FISCAL
YEAR

SHEET
NO.

TOTAL
SHEETS

FED. ROAD

DIST. NO. PROJ. NO.

STATE

For Details of Concrefe HAWAII | HAW. | HWY-0-02-1I1R | 2014 |C0. 354 43
Anchor Block in Ground
>60 D6l below. ———  ~Flared End —Edge of Paved Area
_\;/ a g A g A A A A g g A A A
\ Varies —
< Direction of Traffic tdge of [ravelway Paved
130 Shoulder
Limits of w
Payment for
Type "G" Flare
Finished Grade—\
— e m m m m m m m m m m m
- : : : : : : : : : : :
ELEVATION

S 3%"x3"x6" Steel
R Plate Welded To

%" Weld
" Plate y %" Plate
Hex. — \F & \ A
Nufx S _\_ _ _‘,/% 5" Machine
ST N . /AN 22 Bolt & Cut
1” Dia Sl | | DRI g N Washer on
© ) o T SN NS Z
Stud —  fE======= ~ 5 =\ Front Face
Q
16" Dia./ . _;éb: — 4" Weld /772” A
Hole in 2 23"
%" Plate 4
Standard Swage
Connection for 34" Cable
ANCHOR PLATE DETAILS
S %" ‘ | 34" Cable 1
o " 15/ 1/ u 4” apie 710
= / e 5)ie be swage
~ | connected
IHNNNnnnnnnnm B 3
2 3
Stud fhreaded \ @‘ =
entire length
STANDARD SWAGED FITTING
AND STUD
Secure Cable Loop
W/5 Cable Clips
2, 6 o x Note: 2-0" When Installed
‘ » ” with Rubrail
NN
pe— = iy
= —:4|—+|—=["'Z—H;T::::f::\ ] _:1'1_ :Ti X I'x3'x3’
Finished | Targg L ] TR Concrete Anchor
Grade _J s @ssol N / (Class A Conc.)
=== TS=sg 4 3 : -
N L%” Cable | 'Z S 5"
| | RN R A
1| S Anchor 1 114" Galv. Rod i T
| Plate 1 W/Welded Eye | Il
| : | : | : <l Rod
L Le-% Baits | R
L w/nuts € L L]
washers

A

ANCHOR BLOCK DETAIL

Concrete, G.R.P.,, excavation, anchor rod and miscellaneous appurtenances necessary
fo anchor the guardrail ends shall be incidental fo metal guardrail.

NOTE:

[YPE "G" FLARE END TERMINAL

Type “G” Modified End Terminal is a site specific end terminal with a

faper and radial fermini.

A site specific defailed drawing is required for all

Type “G” Modified End Terminal and must receive Engineer’'s approval.

T'he taper (flare rate) of the guardrail shall follow the lafest edition of
AASHTO'S Roadside Design Guide (currently, Table 5.6 - Suggested Flare Rafe
for Barrier Design, page 5-21, Jan. 1996 edition).

The radius of the radial termini is an Engineer's judgement based on the
site evaluation. The Engineer shall consider safety (minimize the spearing €
blunt end situation); degree and potential seriousness of the hazard; bicycle
and pedestrian accessibility; maintenance equipment accessibility; Right-of-Way

availability; the smallest
constructed (check with

radii the metal w-beam/thrie-beam railing can be
supplier/contractor); posted speed limit; angle of vehicle

impact; and aesthetics when designing the Type "G” Modified End Terminal.
During construction, the Confractor shall layout the proposed Type “G”
Modified End Terminal and receive approval from the Construction Engineer

prior fo installation.

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GUARDRAIL DETAILS

MISCELLANEQUS PERMANENT BEST
MANAGEMENT PRACTICES ON QAHU
PROJECT NO. HWY-0-02-11R
Scale: Date: April, 2014

SHEET No. C-19D0 oF 23 SHEETS

C.0. 3154

/




FED. AID
FED. ROAD FISCAL | SHEET TOTAL
TATE PROJ. NO.
NOTE: DIST. NO. S ©J. NO YEAR NO. SHEETS

INSTALL RAIL PARALLEL TO ROADWAY EDGE LINE, Q
WHEN TAPER IS REQUIRED BY DESIGN ENGINEER, | ASSEMBLY CABLE FC 30006 HAWAIL | HAW. | HWY-0-02-11R | 2014 |CO. 3155 43
A 504 TAPER OVER THE LENGTH OF SYSTEM IS S PC 338756 STRUT 3" x 3"

ALLOWABLE. 4H|s PC 7826 BEARING PLATE

PC 704A CABLE ANCHOR

GUARDRAIL EXIT SLOT AWAY
FROM TRAFFIC

B

| I |

1-3"

\
1
\

| |
\ i \ \ \
PC 9G DEEP ' PC 96 DEEP ' PC 9G DEEP
BEAM GUARDRAIL | BEAM GUARDRAIL | BEAM GUARDRAIL e e ] FC 9354 GUARDRAIL EXTRUDER
SYSTEM LENGTH = 50-0" 12 GA x 12-6" LG ! 12 GA x 126" LG ! 12 GA x 12-6" LG 12 GA x 126" |G DO NOT ATTACH RAIL TO POST #
| |

: :
STANDARD LINE POiTg?) @ @ @ @ @ @ @ ____—_TRAFFIC

2-11/2"

W6 x 8.5

FROM POST # 9 I -3" i -3 i -3" i 6-3" i -3" i 3 i 6-3" i 1_gn
%" dia. x 1%" LG HG.R. | | %" dia. x 1)4" LG HGR. | | %" dia. x 14" L6 HGR. '\ —po NOT ATTACH RAIL TO | %" dia. x 14" LG HGR. | % dia. x 1l4" HEX HD BoLT~—+ [ 11®°° |
SPLICE BOLTS # NUTSi! i | SPLICE BOLTS ¢ NUTS 11 | | SPLICE BOLTS # NUTS |1 |/ POST BLOCKS e RAIL | SPLICE BOLTS ¢ NUTS 1! \W/ WASHER, LOCKWASHER
1] | | ] | | || I/ SPLICES (AT POSTS *#3, | N 1% HEX NUT
by | I by | I Ly 5¢7) I A e by ! o p !
L | N | L/ | N il
] IR ik I 1 | AL ik TR | o
N k oI?I | oI ¢! o ? 9! | | ? 7! d}
N R i 1] 1 | 1|V1: A 1] 1 et Mt
™ I'I" T T B B B T _/ |
™ ik | | | | | | DO NOT ATTACH |
N ] o o o RAIL TO POST #2
TS ) ) ~ ~ NN ~ ~ ~ ~ A\ ~ L/ \_SEE_DETAIL K"
: : 11 11 11 11 | 11 11
N X R R N | “BOLTS MUST BE INSTALLED | | N |
| X X X X 98 INDICATED 10 INSURE. ! R X BILL OF MATERIAL
3 R R B B | BROPER RALL FIT N | |AFTER FINAL ASSEMBLY, i i —Tary T
|
|| ii ii ii ii ii ii \ 1 SURE IT IS TAUT AND L
NOTES: (I La La La La L -<J L : :HAS NOT RELAXED. | ! 9G 3 |12 GA./12'6"/6'3"/S (GUARDRAIL)
‘ A 1 ! 326 | 1 |12 GA/126"/6'3"/S ANC (GUARDRAIL)
1) DO NOT ATTACH GUARDRAIL TO POST # 1. \ . ' 704A | 1 | CABLE ANCHOR BRACKET
2.) DO NOT ATTACH GUARDRAIL TO POST BLOCKS AT PC 338724 POSTS (UPPER) R » 7826 | 1 |5/8" x 8" x 8 BEARING PLATE
GUARDRAIL LAP SPLICES. (AT POSTS #3,5 ¢ 7) PC 33874A POSTS (LOWER) L B ] 995A | 1 | ET-2000 PLUS EXTRUDER
3.) THE %" FLAT WASHER IS USED UNDER THE NUT, B 30006 | 1 | CABLE 34" x 6%6"
BEHIND THE POST ONLY. NO WASHER IS USED -
AT THE RAIL 33006 | 6 |5/ ” WASHER
4) MANUFACTURER SUGGESTS CUSTOMER TO PROVIDE 33406 | 38 | 5/6" HEX NUT
REFLECTORIZATION OF TERMINAL. 33606 | 32 | 5/8" dia. x 11/4" SPLICE BOLT
35006 | 6 |5/8" dia. x 10" POST BOLT
——PC 33872A POST (UPPER) %" dia. x 2)6" HEX HD BOLT 37006 | 19 | 3/4" WASHER
e W6 x 8.5 W/ WASHER, LOCKWASHER .
TRAFFIC SIDE — W/ WASHER, LOCKWASHER 3% dia. x 2" HEX HD BOLT —r— P 338714 POST (UPPER) 37176 | 15 | 374" dia. x 2 1/2" HEX HD BOLT
]

UNDER HEX NUT

INSTALL W/ HEAD ON STRUT 37186 | 1 |3/4" dia. x 3" HEX HD BOLT

SIDE W/ WASHER ¢ LOCKWASHER e
UNDER HEX NUT I

SEE NOTE BELOW 39006 | 2 | 1" WASHER

Zg/ﬂ /(-j/II:gX XNZ%I'I é‘:GW/Z\g/—E/\)E ,‘g or AX - / i K Zgg(t)_%gug;\v%gl 39106 | 2 |1" HEX NUT
‘ i " RECYCLED PLASTIC BLOCKOUT OR
j/_/—(SEE NOTE 3) 7 { gf\g H”g;f WASHER 35| 6 | orFSET BLock
B, & \/ 42546 | 18 | 3/8" WASHER
/ FC 33812 FOST (UPPER) o Losl PC 338756 STRUT \ 42556 | 2 | 3/8" FENDER WASHERS
3" dia. x 2" HEX HD BOLT 4258G | 16 | 3/8" LOCKWASHER
OFFSET BLOCK . | SEE DETAIL "H" — ' ii 46996 | 16 | 3/4" LOCKWASHER
- — - || VIEW “H-H" ey @g )3(3%% POST (LOWER) 63216 | 16 | 3/8" dia. x 2" HEX HD BOLT
&L, .. - DETAIL “D" A DETAIL "K" ' 64056 | 18 |3/8" HEX NUT
) - | oST 3387IA | 1 | ET2000 HBA POST # TOP
AN | S 338724 7 | ET2000 HBA POST #2-#8 TOP
RN \ PC 338744 POST (LOWER) ‘ TRAFFIC SIDE 33873A| 2 | ET2000 HBA POST #-#2 BOTTOM
W6 x 85 PC 7826 BEARING PLATE 8" x 34" x 8" 338747 | 6 | ET2000 HBA POST #3-+#8 BOTTOM
Q ————— TRAFFIC 5. | Tt 336756 | 1 | 6-6" ANGLE STRUT ET HBA
" ] Q TRAFFIC SIDE—_ | I
g ’—\j\’;—!/ ? \i i:_l STATE OF HAWAII
e [E ] § NOTE: H I . i DEPARTMENT OF TRANSPORTATION
SebABal X S wa am I === s R HIGHWAYS DIVISION
Ll ST Oy
B O A 7/ | 1 H -
i N Y S— N ET-2000 PLUS
nAEFEAOCOD N
|
5 |4 ]2 SECTION "A-A" /é\ !
1e [835 Q 3" dia. x 26" HEX I 3Yu g " STACK 2-3 WASHERS ON
Ea 85 f (TYP @ POSTS #4, 6 # 6) /440 BOLT W//2 WASHER, r /480 g’a”zT XW§ Mlzlz\t:s‘)/(-/ER, %" dia. BOLT BETWEEN _ - MISCELLANEOUS PERMANENT BEST
A LOCKWASHER UNDER " | _“\\== LOCKWASHER UNDER — pOST PL$ STRUT T0_ e MANAGEMENT PRACTICES ON OAHU
s T I AL T L0 PASS 0 VIEW "K-K PROJECT NO. HWY-0-02-1IR
i 8 . . A -f )- -
SECTION "B-B" DETAIL °H sc -
ale: Date: April, 2014
\/_[EW ”D_D” (POST #2) (POST #2) p 4

SHEET No.C-19E oF 23 SHEETS

C.0. 31S-b






